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RGS4  GSG 6600800 10~63 495 61 77 165 12520 18 65x9 32
RGS6  GSA 500 80 68 94 113 31 19 2033 9x115 146
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RGS14  GSB 500 520 31 37 46 85 7 0895 45x6 6
RGS148 GSB 500 520 54 64 73 85 7 08095 45x6 85
RGS15  CRZLGSB 250 200 34 60 30 25 303 11x13 120
RGS17 GSB 500  40~100 54 78 06 222 2052 24 9x12 623

RGS18  CR6L 600 75~150 40 70 85 30 25 3233 1x13 147

RGS19 CReL 600 200~250 43 82 107 37 30 4042 1x13 219
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RGS4A  660GH 680 125200 50 77 98 238 20 3 255014 53 10 i e
RGS4B  660CH 660  225~315 50582 108 31 25 3 34 105416 75 S T SHE e 0T SHE ATE SHE Dt
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